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Part 1

Answer all 24 questions in this part. Each correct answer will receive 2 credits. No partial
credit will be allowed. Utilize the information provided for each question to determine your
answer. Note that diagrams are not necessarily drawn to scale. For each statement or question,
choose the word or expression that, of those given, best completes the statement or answers
the question. Record your answers on your separate answer sheet. [4s]

Use this space for
1 The graph of the function p(x) is sketched below. computations.

p(x)

A

Y

Which equation could represent p(x)?

(1) plx) = (x2 = 9)(x — 2)
(2) plx) =23 — 22> + 9 + 18
(3) plx) = (x® + 9)x — 2)
(4) plx) =23 + 22 — 9x — 18

In6 In 48
1 =—-3 3) x= -3
(1) = In2 (3) « In16
(2) x=0 (4) x=In4 -3
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3 Cheap and Fast gas station is conducting a consumer satisfaction
survey. Which method of collecting data would most likely lead to a
biased sample?

(1) interviewing every 5th customer to come into the station

(2) interviewing customers chosen at random by a computer at the
checkout

(3) interviewing customers who call an 800 number posted on the
customers’ receipts

(4) interviewing every customer who comes into the station on a day
of the week chosen at random out of a hat

4 The expression 6xi3(—4xi + 5) is equivalent to
(1) 2x — 5i (3) —24x2 + 30x — i
(2) —24x% — 30xi (4) 26x — 242 — 5i

5 If flx) = 3|x| — 1 and g(x) = 0.03x> — x + 1, an approximate solution
for the equation f(x) = g(x) is
(1) 1.96 (3) (—0.99, 1.96)
(2) 11.29 (4) (11.29, 32.87)

6 Given the parent function p(x) = cos x, which phrase best describes
the transformation used to obtain the graph of g(x) = cos(x + a) — b,
it @ and b are positive constants?

(1) right ¢ units, up b units

(2) right @ units, down b units
(3) left @ units, up b units
(4)

4) left @ units, down b units
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Use this space for

7 The solution to the equation 4x% + 98 = 0 is computations.
(1) +7 (3) =+ %
(2) *7i (4) + #

8 Which equation is represented by the graph shown below?

y

A

0.5

N S

cos 2x (3) y = —cosx

1
2

(2) y = cosx (4) y=2cos%x

9 A manufacturing company has developed a cost model,
C(x) = 0.15x% + 0.01x2 + 2x + 120, where x is the number of items
sold, in thousands. The sales price can be modeled by
S(x) =30 — 0.01x. Therefore, revenue is modeled by R(x) = x « S(x).

The company’s profit, P(x) = R(x) — C(x), could be modeled by
(1) 0.15x3 + 0.02x2 — 28x + 120

(2) —0.15x3 — 0.02x% + 28x — 120

(3) —0.15x% + 0.01x2 — 2.01x — 120

(4) —0.15x% + 32x + 120
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Use this space for
10 A game spinner is divided into 6 equally sized regions, as shown in computations.
the diagram below.

SRS

For Miles to win, the spinner must land on the number 6. After
spinning the spinner 10 times, and losing all 10 times, Miles
complained that the spinner is unfair. At home, his dad ran 100
simulations of spinning the spinner 10 times, assuming the
probability of winning each spin is % The output of the simulation

is shown in the diagram below.

40-
Mean = 0.157

SD= 0.109

Frequency
N w
> 9

—
Q

0 0.10 020 0.30 0.40 0.50
Proportion of 6’s

Which explanation is appropriate for Miles and his dad to make?
(1) The spinner was likely unfair, since the number 6 failed to occur
in about 20% of the simulations.

(2) The spinner was likely unfair, since the spinner should have
landed on the number 6 by the sixth spin.

(3) The spinner was likely not unfair, since the number 6 failed to
occur in about 20% of the simulations.

(4) The spinner was likely not unfair, since in the output the player
wins once or twice in the majority of the simulations.
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11 Which binomial is a factor of x* — 4x2 — 4x + 8?

(1) x — 2 (3) x — 4
(2) x +2 (4) x +4
12 Given that sin2 0 + cos20 = 1 and sin 6 = —% , what is a possible

value of cos 0?

5++/2 <3>%

5

(1)

13 A student studying public policy created a model for the population
of Detroit, where the population decreased 25% over a decade. He
used the model P = 714(0.75)4, where P is the population, in
thousands, d decades after 2010. Another student, Suzanne, wants
to use a model that would predict the population after y years.
Suzanne’s model is best represented by

(1) P = 714(0.6500) (3) P =714(0.9716)"
(2) P = 714(0.8500) (4) P = 714(0.9750)

14 The probability that Gary and Jane have a child with blue eyes is
0.25, and the probability that they have a child with blond hair is 0.5.
The probability that they have a child with both blue eyes and blond

hair is 0.125. Given this information, the events blue eyes and blond

hair are

I.  dependent

II: independent

III: mutually exclusive
(1) I, only (3) Tand III
(2) II, only (4) II and III
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Use this space for

computations.
15 Based on climate data that have been collected in Bar Harbor, Maine,

the average monthly temperature, in degrees F, can be modeled by
the equation B(x) = 23.914sin(0.508x — 2.116) + 55.300. The same
governmental agency collected average monthly temperature data
for Phoenix, Arizona, and found the temperatures could be modeled
by the equation P(x) = 20.238sin(0.525x — 2.148) + 86.729.

Which statement can not be concluded based on the average
monthly temperature models x months after starting data collection?

(1) The average monthly temperature variation is more in Bar
Harbor than in Phoenix.

(2) The midline average monthly temperature for Bar Harbor is
lower than the midline temperature for Phoenix.

(3) The maximum average monthly temperature for Bar Harbor is
79° F, to the nearest degree.

(4) The minimum average monthly temperature for Phoenix is
20° F, to the nearest degree.

16 Forx # 0, which expressions are equivalent to one divided by the sixth

root of x?
L 1
6 6 =
1.2?3;- X TLx °
hx 3
X
(1) I andII, only (3) II and III, only
(2) Tand III, only (4) 1, II, and III

17 A parabola has its focus at (1,2) and its directrix is y = —2. The
equation of this parabola could be

(1) y = 8(x + 1) (3) y = 8(x — 1)2

(@) y =1k +17 (4) y =+~ 17

1
8
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Use this space for

18 The function p(t) = 110¢"9392% models the population of a city, in computations.
millions, ¢ years after 2010. As of today, consider the following two
statements:

I. The current population is 110 million.
II. The population increases continuously by approximately
3.9% per year.

This model supports

(1) I, only (3) both I and II
(2) II, only (4) neither I nor II
19 To solve —2x 11 _ 5 8 , Ren multiplied both sides by the
x—2 X X7 — 2x

least common denominator. Which statement is true?
(1) 2is an extraneous solution.
(2) % is an extraneous solution.

(3) 0 and 2 are extraneous solutions.

(4) This equation does not contain any extraneous solutions.

20 Given f(9) = —2, which function can be used to generate the
sequence —8,—7.25,—6.5,—5.75,...7

(1) filn) = =8 + 0.75n

(2) fln) = =8 = 0.75(n — 1)
(3) fln) = —=8.75 + 0.75n
(4) fin) = —0.75 + 8(n — 1)

21 The function f(x) = 2_0~25x-sin(%x) represents a damped sound
wave function. What is the average rate of change for this function
on the interval [—7,7], to the nearest hundredth?

(1) —3.66 (3) —0.26
(2) —0.30 (4) 3.36
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Use this space for

computations.
22 Mallory wants to buy a new window air conditioning unit. The cost

for the unit is $329.99. If she plans to run the unit three months out
of the year for an annual operating cost of $108.78, which function
models the cost per year over the lifetime of the unit, C(n), in terms
of the number of years, n, that she owns the air conditioner?

(1) C(n) = 329.99 + 108.78n
(2) C(n) = 329.99 + 326.34n

n
. + .
(4) C(n) = 329.99 + 326.34n
n
—3x% — 5x + 2
23 The expression 3 3 can be rewritten as
x°” + 2x
(1) =Xx=3 (3) =31+ 1
x° + 2x
<2) —3x2— 1 <4> _Sx—l + x_2

X

24 Jasmine decides to put $100 in a savings account each month. The
account pays 3% annual interest, compounded monthly. How much
money, S, will Jasmine have after one year?

(1) S =100(1.03)12 (3) S =100(1.0025)12
12 12
100 — 100(1.0025 100 — 100(1.03
o s 10 100(00035) % (1.09)
1—1.0025 1—1.03
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Part I1

Answer all 8 questions in this part. Each correct answer will receive 2 credits. Clearly
indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs,
charts, etc. Utilize the information provided for each question to determine your answer.
Note that diagrams are not necessarily drawn to scale. For all questions in this part, a correct
numerical answer with no work shown will receive only 1 credit. All answers should be
written in pen, except for graphs and drawings, which should be done in pencil. [16]

25 Given r(x) = 13 — 422 + 4x — 6, find the value of (2).

What does your answer tell you about x — 2 as a factor of r(x)? Explain.
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26 The weight of a bag of pears at the local market averages 8 pounds with a standard deviation of
0.5 pound. The weights of all the bags of pears at the market closely follow a normal distribution.
Determine what percentage of bags, to the nearest integer, weighed less than 8.25 pounds.

27 Over the set of integers, factor the expression 43 — x2 + 16x — 4 completely.
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28 The graph below represents the height above the ground, h, in inches, of a point on a triathlete’s
bike wheel during a training ride in terms of time, ¢, in seconds.

26+

Height Above

the Ground >§g%§<
(in) X

|
2 4 6
3 3 3
Time (sec)

Identify the period of the graph and describe what the period represents in this context.
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29 Graph y = 400(.85)* — 6 on the set of axes below.

y
4007

1004
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30 Solve algebraically for all values of x:

Nx—4 +x=6

31 Write :\;/; . \/; as a single term with a rational exponent.
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32 Data collected about jogging from students with two older siblings are shown in the table below.

Neither Sibling| One Sibling | Both Siblings
Jogs Jogs Jog
Student Does 1168 1823 1380
Not Jog
Student Jogs 188 416 400

Using these data, determine whether a student with two older siblings is more likely to jog if one
sibling jogs or if both siblings jog. Justify your answer.
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Part I11

Answer all 4 questions in this part. Each correct answer will receive 4 credits. Clearly
indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs,
charts, etc. Utilize the information provided for each question to determine your answer.
Note that diagrams are not necessarily drawn to scale. For all questions in this part, a correct
numerical answer with no work shown will receive only 1 credit. All answers should be
written in pen, except for graphs and drawings, which should be done in pencil. [16]

33 Solve the following system of equations algebraically for all values of x, y, and z:
xt+tyt+z=1
2¢ + 4y + 62 = 2
—x+ 3y —5z=11
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34 Jim is looking to buy a vacation home for $172,600 near his favorite southern beach. The formula
r(l + r)N
1+ -1
loan, r is the monthly interest rate, and N is the number of monthly payments. Jim’s bank offers a

to compute a mortgage payment, M,is M = P« where P is the principal amount of the

monthly interest rate of 0.305% for a 15-year mortgage.

With no down payment, determine Jim’s mortgage payment, rounded to the nearest dollar.

Algebraically determine and state the down payment, rounded to the nearest dollar, that Jim needs
to make in order for his mortgage payment to be $1100.
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35 Graph y = log,(x + 3) — 5 on the set of axes below. Use an appropriate scale to include
both intercepts.

A
Y
x

Describe the behavior of the given function as x approaches —3 and as x approaches positive infinity.
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36 Charlie’s Automotive Dealership is considering implementing a new check-in procedure for
customers who are bringing their vehicles for routine maintenance. The dealership will launch
the procedure if 50% or more of the customers give the new procedure a favorable rating when
compared to the current procedure. The dealership devises a simulation based on the minimal
requirement that 50% of the customers prefer the new procedure. Each dot on the graph below
represents the proportion of the customers who preferred the new check-in procedure, each of
sample size 40, simulated 100 times.

H Mean = 0.506
: SD =0.078
:
[ [ J [
[ J [ [J [
[ [ J [ J [ [
[ J [ (3 [J [J
[ [ J [ J [ [ J
[J [ [ J [J [ [ 3
[ [ J [ J [ [ 3 [
[ [J [ [ 3 [J [ [ 3 [J [ 3
[ [ J [ J [ J [ J [ [ 3 [ J [ [ 3
[ J [J [ [ 3 [ [ 3 [J [ [ 3 [J [ 3 [J
[ J [ [ ] [ [ J [ [ [ J [ J [ J [J [ J [
; P ¢ & 9 & & o o & o o
0.30 0.35 0.40 0.45 0.50 0.55 0.60 0.65 0.70
Proportion Preferring New Procedure

Assume the set of data is approximately normal and the dealership wants to be 95% confident of
its results. Determine an interval containing the plausible sample values for which the dealership
will launch the new procedure. Round your answer to the nearest hundredth.

Forty customers are selected randomly to undergo the new check-in procedure and the
proportion of customers who prefer the new procedure is 32.5%. The dealership decides not to
implement the new check-in procedure based on the results of the study. Use statistical evidence
to explain this decision.

Algebra II (Common Core) — June 17 [19] [OVER]



Part IV

Answer the question in this part. A correct answer will receive 6 credits. Clearly indicate
the necessary steps, including appropriate formula substitutions, diagrams, graphs, charts, etc.
Utilize the information provided to determine your answer. Note that diagrams are not
necessarily drawn to scale. A correct numerical answer with no work shown will receive only
1 credit. All answers should be written in pen, except for graphs and drawings, which should
be done in pencil. [6]

37 A radioactive substance has a mass of 140 g at 3 p.m. and 100 g at 8 p.m. Write an equation in
t
the form A = AO<%) h' that models this situation, where h is the constant representing the

number of hours in the half-life, A is the initial mass, and A is the mass ¢ hours after 3 p.m.

Using this equation, solve for h, to the nearest ten thousandth.

Determine when the mass of the radioactive substance will be 40 g. Round your answer to the
nearest tenth of an hour.
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1 inch = 2.54 centimeters
1 meter = 39.37 inches

1 mile = 5280 feet

1 mile = 1760 yards

1 mile = 1.609 kilometers

High School Math Reference Sheet

1 kilometer = 0.62 mile

1 pound = 16 ounces

1 pound = 0.454 kilogram
1 kilogram = 2.2 pounds
1 ton = 2000 pounds

1 cup = 8 fluid ounces

1 pint = 2 cups

1 quart = 2 pints

1 gallon = 4 quarts

1 gallon = 3.785 liters

1 liter = 0.264 gallon

1 liter = 1000 cubic centimeters
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FOR TEACHERS ONLY

The University of the State of New York
REGENTS HIGH SCHOOL EXAMINATION

ALGEBRA 11 (Common Core)

Friday, June 16, 2017 — 1:15 to 4:15 p.m., only

SCORING KEY AND RATING GUIDE

Mechanics of Rating

The following procedures are to be followed for scoring student answer papers for
the Regents Examination in Algebra IT (Common Core). More detailed information about
scoring is provided in the publication Information Booklet for Scoring the Regents Examination
in Algebra II (Common Core).

Do not attempt to correct the student’s work by making insertions or changes of any kind.
In scoring the constructed-response questions, use check marks to indicate student errors.
Unless otherwise specified, mathematically correct variations in the answers will be allowed.
Units need not be given when the wording of the questions allows such omissions.

Each student’s answer paper is to be scored by a minimum of three mathematics
teachers. No one teacher is to score more than approximately one-third of the constructed-
response questions on a student’s paper. Teachers may not score their own students’ answer
papers. On the student’s separate answer sheet, for each question, record the number of
credits earned and the teacher’s assigned rater/scorer letter.

Schools are not permitted to rescore any of the open-ended questions on this
exam after each question has been rated once, regardless of the final exam score.
Schools are required to ensure that the raw scores have been added correctly and
that the resulting scale score has been determined accurately.

Raters should record the student’s scores for all questions and the total raw score on the
student’s separate answer sheet. Then the student’s total raw score should be converted to
a scale score by using the conversion chart that will be posted on the Department’s
web site at: http:/www.pl12.nysed.gov/assessment/ by Friday, June 16, 2017. Because
scale scores corresponding to raw scores in the conversion chart may change from one
administration to another, it is crucial that, for each administration, the conversion chart
provided for that administration be used to determine the student’s final score. The student’s
scale score should be entered in the box provided on the student’s separate answer sheet.
The scale score is the student’s final examination score.




If the student’s responses for the multiple-choice questions are being hand scored prior to being
scanned, the scorer must be careful not to make any marks on the answer sheet except to record
the scores in the designated score boxes. Marks elsewhere on the answer sheet will interfere with
the accuracy of the scanning.

Part I

Allow a total of 48 credits, 2 credits for each of the following.

1)..... 1..... 9).....2..... (A7) .. 4. ...
@)..... 1..... (10).....3..... (18).....2.....
3).....3..... (1D).....1..... (19). . ... 1.....
4).....2..... (12).....2..... (20).....3.....
B).....2..... (13).....3..... @1).....3.....
6). ... ... .. (14).....2..... (22).....3.....
(7)o, (15). ... 4..... (23). ... 4.....
S)..... 1..... (16).....4..... (24).....2.....

Updated information regarding the rating of this examination may be posted on the New
York State Education Department’s web site during the rating period. Check this web site
at: http//www.pl2.nysed.gov/assessment/ and select the link “Scoring Information” for any
recenﬂy poste(f information regarding this examination. This site should be checked before
the rating process for this examination begins and several times throughout the Regents
Examination period.

The Department is providing supplemental scoring guidance, the “Model Response Set,”
for the Regents Examination in Alge%rd IT (Common Core). This guidance is recommended
to be part of the scorer training. Schools are encouraged to incorporate the Model Response
Sets into the scorer training or to use them as additional information during scoring. While
not reflective of all scenarios, the model responses selected for the Model Response Set
illustrate how less common student responses to constructed-response questions may
be scored. The Model Response Set Wlllpbe available on the Department’s web site at
http://www.nysedregents.org/algebratwo/.
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General Rules for Applying Mathematics Rubrics

I. General Principles for Rating

The rubrics for the constructed-response questions on the Regents Examination in Algebra II (Common
Core) are designed to provide a systematic, consistent method for awarding credit. The rubrics are not to
be considered all-inclusive; it is impossible to anticipate all the different methods that students might use
to solve a given problem. Each response must be rated carefully using the teacher’s professional judgment
and knowledge of mathematics; all calculations must be checked. The specific rubrics for each question
must be applied consistently to all responses. In cases that are not specifically addressed in the rubrics,
raters must follow the general rating guidelines in the publication Information Booklet for Scoring the
Regents Examination in Algebra II (Common Core), use their own professional judgment, confer with other
mathematics teachers, and/or contact the State Education Department for guidance. During each Regents
Examination administration period, rating questions may be referred directly to the Education Department.
The contact numbers are sent to all schools before each administration period.

II. Full-Credit Responses

A full-credit response provides a complete and correct answer to all parts of the question. Sufficient work is
shown to enable the rater to determine how the student arrived at the correct answer.

When the rubric for the full-credit response includes one or more examples of an acceptable method
for solving the question (usually introduced by the phrase “such as”), it does not mean that there are no
additional acceptable methods of arriving at the correct answer. Unless otherwise specified, mathematically
correct alternative solutions should be awarded credit. The only exceptions are those questions that specify
the type of solution that must be used; e.g., an algebraic solution or a graphic solution. A correct solution
using a method other than the one specified is awarded half the credit of a correct solution using the

specified method.

III. Appropriate Work

Full-Credit Responses: The directions in the examination booklet for all the constructed-response questions
state: “Clearly indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs,
charts, etc.” The student has the responsibility of providing the correct answer and showing how that answer
was obtained. The student must “construct” the response; the teacher should not have to search through
a group of seemingly random calculations scribbled on the student paper to ascertain what method the
student may have used.

Responses With Errors: Rubrics that state “Appropriate work is shown, but...” are intended to be used with
solutions that show an essentially complete response to the question but contain certain types of errors,
whether computational, rounding, graphing, or conceptual. If the response is incomplete; i.e., an equation
is written but not solved or an equation is solved but not all of the parts of the question are answered,
appropriate work has not been shown. Other rubrics address incomplete responses.

IV. Multiple Errors

Computational Errors, Graphing Errors, and Rounding Errors: Each of these types of errors results in a
1-credit deduction. Any combination of two of these types of errors results in a 2-credit deduction. No more than
2 credits should be deducted for such mechanical errors in a 4-credit question and no more than 3 credits
should be deducted in a 6-credit question. The teacher must carefully review the student’s work to determine
what errors were made and what type of errors they were.

Conceptual Errors: A conceptual error involves a more serious lack of knowledge or procedure. Examples
of conceptual errors include using the incorrect formula for the area of a figure, choosing the incorrect
trigonometric function, or multiplying the exponents instead of adding them when multiplying terms with
exponents.

If a response shows repeated occurrences of the same conceptual error, the student should not be penalized
twice. If the same conceptual error is repeated in responses to other questions, credit should be deducted
in each response.

For 4- and 6-credit questions, if a response shows one conceptual error and one computational, graphing, or
rounding error, the teacher must award credit that takes into account both errors. Refer to the rubric for
specific scoring guidelines.
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Part 11

For each question, use the specific criteria to award a maximum of 2 credits. Unless
otherwise specified, mathematically correct alternative solutions should be awarded
appropriate credit.

(25) [2] —6, and a correct explanation is written.

[1] One computational error is made.
or
[1] One conceptual error is made.
or
[1] —6, but the explanation is incorrect or missing.

[0] A zero response is completely incorrect, irrelevant, or incoherent or is a
correct response that was obtained by an obviously incorrect procedure.

(26) [2] 69, and correct work is shown.

[1] Appropriate work is shown, but one computational error or rounding error is
made.
or

[1] Appropriate work is shown, but one conceptual error is made.
or

[1] 69, but no work is shown.

[0] A zero response is completely incorrect, irrelevant, or incoherent or is a
correct response that was obtained by an obviously incorrect procedure.
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(27) [2] (x® + 4)(4x — 1) and correct work is shown.

[1] Appropriate work is shown, but one factoring error is made.
or

[1] Appropriate work is shown, but one conceptual error is made.
or

[1] x%(4x — 1) + 4(4x — 1) is written, but no further correct work is shown.
or

[1] (x* + 4)(4x — 1), but no work is shown.

[0] A zero response is completely incorrect, irrelevant, or incoherent or is a
correct response that was obtained by an obviously incorrect procedure.

(28) [2] % and a correct description is written.

[1] One computational error is made.
or
[1] One conceptual error is made.

or

[1] %, but the description is incomplete or missing.

[0] A zero response is completely incorrect, irrelevant, or incoherent or is a
correct response that was obtained by an obviously incorrect procedure.

(29) [2] A correct graph is drawn.

[1] One computational or graphing error is made.
or

[1] One conceptual error is made.

[0] A zero response is completely incorrect, irrelevant, or incoherent or is a
correct response that was obtained by an obviously incorrect procedure.
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(30) [2] 5 and correct algebraic work is shown.

[1] Appropriate work is shown, but one computational or simplification error is
made.
or

[1] Appropriate work is shown, but one conceptual error is made.
or

[1] Appropriate work is shown, but 8 is not rejected.
or

[1] 5, but a method other than algebraic is used.
or

[1] 5, but no work is shown.

[0] A zero response is completely incorrect, irrelevant, or incoherent or is a
correct response that was obtained by an obviously incorrect procedure.

5
(31) [2] x° and correct work is shown.
[1] Appropriate work is shown, but one computational error is made.
or
[1] Appropriate work is shown, but one conceptual error is made.

or
5
[1] x°® but no work is shown.

[0] A zero response is completely incorrect, irrelevant, or incoherent or is a
correct response that was obtained by an obviously incorrect procedure.

(32) [2] Both siblings jog and a correct justification is given.

[1] Appropriate work is shown, but one computational error is made.
or

[1] Appropriate work is shown, but one conceptual error is made.
[0] Both siblings jog, but no justification is given.
or

[0] A zero response is completely incorrect, irrelevant, or incoherent or is a
correct response that was obtained by an obviously incorrect procedure.
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Part I11

For each question, use the specific criteria to award a maximum of 4 credits. Unless
otherwise specified, mathematically correct alternative solutions should be awarded
appropriate credit.

(33) [4] x =0,y =2, and z = —1, and correct algebraic work is shown.

[3] Appropriate work is shown, but one computational error is made.
or

[3] Appropriate work is shown to find two solutions, but no further correct work

is shown.

[2] Appropriate work is shown, but two or more computational errors are made.
or

[2] Appropriate work is shown, but one conceptual error is made.
or

[2] Appropriate work is shown to find one solution, but no further correct work is
shown.
or

[2] x = 0,y = 2, and z = —1, but a method other than algebraic is used.
[1] Appropriate work is shown, but one conceptual error and one computational

error are made.
or

[1] Appropriate work is shown to eliminate a variable in order to create a system
of two equations, but no further correct work is shown.

or

[1] x = 0,y = 2, and z = —1, but no work is shown.

[0] A zero response is completely incorrect, irrelevant, or incoherent or is a
correct response that was obtained by an obviously incorrect procedure.
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(34) [4] 1247 and 20,407, and correct work is shown.

[3] Appropriate work is shown, but one computational or rounding error is
made.
or

[3] Appropriate work is shown to find 1247 and 152,193, but no further correct
work is shown.

[2] Appropriate work is shown, but two or more computational or rounding errors
are made.
or

[2] Appropriate work is shown, but one conceptual error is made.
or

[2] Appropriate work is shown to find 1247 or 20,407, but no further correct work
is shown.
or

[2] 1247 and 20,407, but no work is shown.

[1] Appropriate work is shown, but one conceptual error and one computational
or rounding error are made.
or

[1] A correct substitution is made in the mortgage payment formula, but no
further correct work is shown.
or

[1] 1247 or 20,407, but no work is shown.

[0] A zero response is completely incorrect, irrelevant, or incoherent or is a
correct response that was obtained by an obviously incorrect procedure.
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(35) [4] A correct graph is drawn and a correct description is given, such as x — —3,
y — —, and asx — %©, y —> ®,

[3] Appropriate work is shown, but one computational or graphing error is
made.

[2] Appropriate work is shown, but two or more computational or graphing errors
are made.
or

[2] Appropriate work is shown, but one conceptual error is made.
or
[2] A correct description is given, but no further correct work is shown.
or
[2] A correct graph is drawn, but no further correct work is shown.
[1] Appropriate work is shown, but one conceptual error and one computational

or graphing error are made.
or

[1] Asx = =3,y — —®, orasx —> ®, y —> ®,

[0] A zero response is completely incorrect, irrelevant, or incoherent or is a
correct response that was obtained by an obviously incorrect procedure.
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(36) [4] A correctinterval is stated, such as (0.35, 0.66), and correct work is shown, and
a correct explanation is written.

[3] Appropriate work is shown, but one computational or rounding error is
made.
or

[3] Appropriate work is shown, but the sample proportion is used to find the

interval.

[2] Appropriate work is shown, but two or more computational or rounding errors
are made.
or

[2] Appropriate work is shown, but one conceptual error is made.
or

[2] A correct interval, and correct work is shown, but no further correct work is
shown.
or

[2] A correct explanation is written, but no further correct work is shown.

[1] Appropriate work is shown but one conceptual error and one computational
or rounding error are made.

[0] A zero response is completely incorrect, irrelevant, or incoherent or is a
correct response that was obtained by an obviously incorrect procedure.
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Part IV

For each question, use the specific criteria to award a maximum of 6 credits. Unless
otherwise specified, mathematically correct alternative solutions should be awarded
appropriate credit.

5

(37)  [6] 100 = 140(%)’1 or equivalent, 10.3002, 18.6, and correct work is shown.
[5] Appropriate work is shown, but one computational, rounding, or notation error
is made.

[4] Appropriate work is shown, but two computational or rounding errors are
made.
or

[4] Appropriate work is shown, but one conceptual error is made.
[3] Appropriate work is shown, but one conceptual error and one computational

error are made.
or

[3] Appropriate work is shown to find 10.3002, but no further correct work is

shown.

[2] Appropriate work is shown, but one conceptual error and two or more
computational or rounding errors are made.
or

[2] Appropriate work is shown, but two conceptual errors are made.
or
[2] Appropriate work is shown to find 18.6, but no further correct work is shown.

or

[2] 10.3002 and 18.6, but no work is shown.

5

[1] 100 = 140(%) " but no further correct work is shown.
or

[1] 10.3002 or 18.6, but no work is shown.

[0] A zero response is completely incorrect, irrelevant, or incoherent or is a
correct response that was obtained by an obviously incorrect procedure.
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Map to the Common Core Learning Standards
Algebra Il (Common Core)

June 2017

Question Type Credits Cluster
1 Multiple Choice 2 A-APR.B
2 Multiple Choice 2 F-LE.A
3 Multiple Choice 2 S-IC.B
4 Multiple Choice 2 N-CN.A
5 Multiple Choice 2 A-REI.D
6 Multiple Choice 2 F-BF.B
7 Multiple Choice 2 A-REI.B
8 Multiple Choice 2 F-IF.C
9 Multiple Choice 2 F-BF.A
10 Multiple Choice 2 S-IC.A
11 Multiple Choice 2 A-APR.B
12 Multiple Choice 2 F-TF.C
13 Multiple Choice 2 A-SSE.B
14 Multiple Choice 2 S-CP.B
15 Multiple Choice 2 F-IF.B
16 Multiple Choice 2 N-RN.A
17 Multiple Choice 2 G-GPE.A
18 Multiple Choice 2 F-LE.B
19 Multiple Choice 2 A-RELA
20 Multiple Choice 2 F-IF.A

Algebra II (Common Core) Rating Guide - June 17 [12]



21 Multiple Choice F-IF.B

22 Multiple Choice A-CED.A

23 Multiple Choice A-SSE.A

24 Multiple Choice A-SSE.B

25 Constructed A-APR.B
Response

26 Constructed SIDA
Response

27 Constructed A-SSE A
Response

)8 Constructed EIEB
Response

29 Constructed E-IE.C
Response

30 Constructed A-REIA
Response

31 Constructed N-RN.A
Response

37 Constructed S.CPA
Response

33 Constructed A-RELC
Response

34 Constructed A-SSE B
Response

35 Constructed E-IF.C
Response

36 Constructed SICB
Response

37 Constructed E-BEA
Response
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Regents Examination in Algebra IT (Common Core)
June 2017

Chart for Converting Total Test Raw Scores to
Final Examination Scores (Scale Scores)

The Chart for Determining the Final Examination Score for the June 2017
Regents Examination in Algebra II (Common Core) will be posted on the Department’s
web site at: http:/www.pl2.nysed.gov/assessment/ by Friday, June 16, 2017.
Conversion charts provided for previous administrations of the Regents Examination
in Algebra II (Common Core) must NOT be used to determine students’ final scores
for this administration.

Online Submission of Teacher Evaluations of the Test to the Department

Suggestions and feedback from teachers provide an important contribution to the
test development process. The Department provides an online evaluation form for State
assessments. It contains spaces for teachers to respond to several specific questions and to
make suggestions. Instructions for completing the evaluation form are as follows:

1. Go to http://www.forms2.nvsed.gov/emsc/osa/exameval/reexameval.cfm.

2. Select the test title.
3. Complete the required demographic fields.
4. Complete each evaluation question and provide comments in the space provided.

5. Click the SUBMIT button at the bottom of the page to submit the completed form.

Algebra II (Common Core) Rating Guide - June 17 [14]



The University of the State of New York
REGENTS HIGH SCHOOL EXAMINATION

ALGEBRA 11 (Common Core)

Friday, June 16, 2017 — 1:15 to 4:15 p.m.

MODEL RESPONSE SET

Table of Contents

Question 25 . .................. 2
Question 26 . .................. 7
Question 27 . ................. 12
Question28.................. 17
Question29 . ................. 21
Question 30 .................. 26
Question 31 .................. 30
Question 32 . ................. 36
Question 33 .................. 40
Question 34 .................. 47
Question 35 .................. 53
Question 36.................. 59

Question 37 .................. 67




Question 25

25 Given r(x) = x3 — 422 + 4x — 6, find the value of (2).

What does your answer tell you about x — 2 as a factor of r(x)? Explain.

Score 2: The student gave a complete and correct response.
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Question 25

25 Given r(x) = x3 — 422 + 4x — 6, find the value of (2).

What does your answer tell you about x — 2 as a factor of r(x)? Explain.

Score 2: The student gave a complete and correct response.
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Question 25

25 Given r(x) = x3 — 422 + 4x — 6, find the value of (2).

What does your answer tell you about x — 2 as a factor of r(x)? Explain.

Score 1: The student gave an incomplete explanation.
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Question 25

25 Given r(x) = x3 — 422 + 4x — 6, find the value of (2).

What does your answer tell you about x — 2 as a factor of r(x)? Explain.

Score 1: The student stated a correct explanation based on an incorrect value.
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Question 25

25 Given r(x) = x3 — 422 + 4x — 6, find the value of (2).

What does your answer tell you about x — 2 as a factor of r(x)? Explain.

the other facroyr could ©F€
pOsitivE sINCE The

answer L € and
one o +he 4&% gV E

Score 0: The student gave a completely incorrect response.
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Question 26

26 The weight of a bag of pears at the local market averages 8 pounds with a standard deviation of
0.5 pound. The weights of all the bags of pears at the market closely follow a normal distribution.
Determine what percentage of bags, to the nearest integer, weighed less than 8.25 pounds.

5

Score 2: The student gave a complete and correct response.
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Question 26

26 The weight of a bag of pears at the local market averages 8 pounds with a standard deviation of
0.5 pound. The weights of all the bags of pears at the market closely follow a normal distribution.
Determine what percentage of bags, to the nearest integer, weighed less than 8.25 pounds.

i,

W\

Score 2: The student gave a complete and correct response.
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Question 26

26 The weight of a bag of pears at the local market averages 8 pounds with a standard deviation of
0.5 pound. The weights of all the bags of pears at the market closely follow a normal distribution.
Determine what percentage of bags, to the nearest integer, weighed less than 8.25 pounds.

Score 1: The student made an error by not converting to a percent correctly.
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Question 26

26 The weight of a bag of pears at the local market averages 8 pounds with a standard deviation of
0.5 pound. The weights of all the bags of pears at the market closely follow a normal distribution.
Determine what percentage of bags, to the nearest integer, weighed less than 8.25 pounds.

Score 1: The student made a rounding error.
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Question 26

26 The weight of a bag of pears at the local market averages 8 pounds with a standard deviation of
0.5 pound. The weights of all the bags of pears at the market closely Tollow a normal distribution.
Determine what ,6ercentag_ﬁ,_“~§ bags, to the nggrestintecer, weighed less than 8.25 pounds.

o A5

0.5 6:5

oY/

Score 0: The student gave an incorrect response.
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Question 27

27 Over the set of integers, factor the expression 43 — x2 + 16x — 4 completely.

Score 2: The student gave a complete and correct response.
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Question 27

27 Over the set of integers, factor the expression 43 — x2 + 16x — 4 completely.

Score 1: The student made a conceptual error by finding roots.
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Question 27

27 Over the set of integers, factor the expression 43 — x2 + 16x — 4 completely.

Score 1: The student wrote x> (4x - l) + 4(4x — 1), but showed no further correct work.
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Question 27

27 Over the set of integers, factor the expression 43 — x2 + 16x — 4 completely.

Score 1: The student made one factoring error.
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Question 27

27 Over the set of integers, factor the expression 43 — x2 + 16x — 4 completely.

Score 0: The student made multiple factoring errors.
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Question 28

28 The graph below represents the height above the ground, &, in inches, of a point on a triathlete’s
bike wheel during a training ride in terms of time, ¢, in seconds.

26

Height Above X
the Ground P @4

(in)

| I |
2 4 6
3 3 3
Time (sec)

Identify the period of the graph and describe what the period represents in this context.

Score 2: The student gave a complete and correct response.

Algebra II (Common Core) — June 17 [17]



Question 28

28 The graph below represents the height above the ground, &, in inches, of a point on a triathlete’s
bike wheel during a training ride in terms of time, ¢, in seconds.

26

Height Above X
the Ground P @4

(in)

| I |
2 4 6
3 3 3
Time (sec)

Identify the period of the graph and describe what the period represents in this context.

Score 1: The student did not describe the period in context.
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Question 28

28 The graph below represents the height above the ground, &, in inches, of a point on a triathlete’s
bike wheel during a training ride in terms of time, ¢, in seconds.

26

Height Above X
the Ground P @4

(in)

| I |
2 4 6
3 3 3
Time (sec)

Identify the period of the graph and describe what the period represents in this context.

Score 1: The student gave an incomplete description.
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Question 28

28 The graph below represents the height above the ground, &, in inches, of a point on a triathlete’s
bike wheel during a training ride in terms of time, ¢, in seconds.

26

Height Above X
the Ground P @4

(in)

| I |
2 4 6
3 3 3
Time (sec)

Identify the period of the graph and describe what the period represents in this context.

Score 0: The student gave a completely incorrect response.
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Question 29

29 Graph y = 400(.85)* — 6 on the set of axes below.

Score 2: The student gave a complete and correct response.
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Question 29

29 Graph y = 400(.85)* — 6 on the set of axes below.

y
400

.0

Score 1: The student made an error graphing the y-intercept.
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Question 29

29 Graph y = 400(.85)* — 6 on the set of axes below.

y
400

>

300

200
(%0
160
140

1004

v
x

Score 1:  The student incorrectly entered the equation as y = 400(.85)% ~ 6,
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Question 29

29 Graph y = 400(.85)* — 6 on the set of axes below.

y
40

e d]
100+

Score 0: The student made multiple graphing errors.
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Question 29

29 Graph y = 400(.85)* — 6 on the set of axes below.

>

1004

Score 0: The student made multiple graphing errors.
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Question 30

30 Solve algebraically for all values of x:

Vx—4 +x=6

Score 2: The student gave a complete and correct response.
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Question 30

30 Solve algebraically for all values of x:

3 g
m+x=6

51@

X1 Y, [ Y

7 L16
e >
S EN

Score 1: The student did not use an algebraic method.
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Question 30

30 Solve algebraically for all values of x:

Vx—4 +x=6

Score 1: The student did not reject 8.
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Question 30

30 Solve algebraically for all values of x:

Vx—4 +x=6

Score 0: The student made a conceptual error and did not check for extraneous roots.
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Question 31

31 Write %/; . \/; as a single term with a rational exponent.

Score 2: The student gave a complete and correct response.
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Question 31

31 Write %/; . \/; as a single term with a rational exponent.

Score 1: The student’s response did not have a rational exponent.
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Question 31

31 Write %/; . \/; as a single term with a rational exponent.

Score 1: The student multiplied the exponents.
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Question 31

31 Write %/; . \/; as a single term with a rational exponent.

Score 1: The student made an error when multiplying radicands with different indices.
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Question 31

31 Write %/; . \/; as a single term with a rational exponent.

Score 0: The student made an error when multiplying radicands with different indices and

assumed the index of \/? to be 1.
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Question 31

31 Write %/; . \/; as a single term with a rational exponent.

Score 0: The student gave an incorrect response.
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Question 32

32 Data collected about jogging from students with two older siblings are shown in the table below.

Neither Sibling| One Sibling | Both Siblings
Jogs Jogs Jog
Student Does 1168 1823 1380
Not Jog
Student Jogs 188 416 400

Using these data, determine whether a student with two older siblings is more likely to jog if one

sibling jogs or if both siblings jog. Justify your answer.

Score 2: The student gave a complete and correct response.
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Question 32

32 Data collected about jogging from students with two older siblings are shown in the table below.

Neither Sibling| One Sibling | Both Siblings
Jogs Jogs Jog
Student Does 1168 1823 1380
Not Jog
Student Jogs 188 416 400

2227 [ 7570
Using these data, determine whether a student with two older siblings is more likely to jog if one

sibling jogs or if both siblings jog. Justify your answer.

PS5 oue) ?Cﬁl +m>

416 40
2239 | 780

1898 , 224/

mo®

Score 2: The student gave a complete and correct response.
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Question 32

32 Data collected about jogging from students with two older siblings are shown in the table below.

Neither Sibling| One Sibling | Both Siblings
Jogs Jogs Jog
Student Does 1168 1823 1380
Not Jog
Student Jogs 188 416 400

Using these data, determine whether a student with two older siblings is more likely to jog if one
sibling jogs or if both siblings jog. Justify your answer.

Score 1: The student made a computational error evaluating P(J|O).
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Question 32

32 Data collected about jogging from students with two older siblings are shown in the table below.

Neither Sibling| One Sibling | Both Siblings
Jogs Jogs Jog
Student Does 1168 1823 1380
Not Jog
Student Jogs 188 416 400

We oM =%
S3IY
Goo =g = Yo
531y

Using these data, determine whether a student with two older siblings is more likely to jog if one
sibling jogs or if both siblings jog. Justify your answer.

Score O:

The student did not show enough correct work to receive any credit.
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Question 33

33 Solve the following system of equations algebraically for all values of x, y, and z:

gl ey

1N+ 3y —5z=11 _— HVL}'H’Z"“’

v ———d

“Zg “l2 =0
g_zza g‘}ZZ%D
e

3z =%

Score 4: The student gave a complete and correct response.

Algebra II (Common Core) — June 17 [40]



Question 33

33 Solve the following system of equations algebraically for all values of x, y, and z:

y=5 xt+ytz=1
% + 4y + 6z = 2
«?‘-:% C—x+3y—5:=11) L Jx*‘(y\*(oa <
(= -F 2k by il =22
(xbyrzztd 2 = my gz =2V
iy rbz * |
ZXZ‘Yl s 0(3) -z =2
1 K = L -
19\ Yy thz = 2 } (%_&q
Y 3 30
2y §=E T Nz=-t
-k\b N I | =N -:LT
= 2M Zz= 5.
& 2
NE 2

Score 3: The student made a computational error when subtracting 10y from —2y.
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Question 33

33 Solve the following system of equations algebraically for all values of x, y, and z:

7=\
X =0
u=C

Lzl X ¥re=\ (D)
t 3-52]1 S& -y -9z
qq~qz:;g X YUy~ Gz=4
dy ~82=0C2 Uy ~62=0

'42:' 12 -‘%X" ~R2=-3
-1 ‘HGZ . - X +2 S—'Z"'”

19z ={d
- \Qx‘
"‘L‘ X- 1“\2 -y ¥=0

Qx%q YG= Q

,:2)(%92-'" LD O+y+1= |

=0

Score 3: The student made one transcription error by writing 2x + 4y — 6z = 2.

Algebra II (Common Core) — June 17 [42]



Question 33

33 Solve the following system of equations algebraically for all values of x, y, and z:

Score 2: The student gave one solution with appropriate work.
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Question 33

33 Solve the following system of equations algebraically for all values of x, y, and z:

A xtytz=1
20 + 4y + 6z = 2

Q—x+3y—5z=11 Sx-ASIE =)
~2Ytoy -10% =272 _y 43% "%f‘;u
~oy oy - ~ YKAUY bt =72
~ ik - 4 M =1L
Lx MYy oy =47 = 2Y “ X
-‘}/2/-'2\5 = 3 (s
+Fy =12 ~ ,;'Z—L!?z 2y Yy~ gl2.9) =17
-2
e b _uy = -
=23 =
2 29

Score 2: The student made a computational error, but found appropriate values for y and z.
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Question 33

33 Solve the following system of equations algebraically for all values of x, y, and z:

Score 1: The student did enough work to create a system of equations.
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Question 33

33 Solve the following system of equations algebraically for all values of x, y, and z:

Score 0: The student gave an incorrect response.
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Question 34

34 Jim is looking to buy a vacation home for $172,600 near his favorite southern beach. The formula
r(1 + r)N
1+ -1

loan, r is the monthly interest rate, and N is the number of monthly payments. Jim’s bank offers a

to compute a mortgage payment, M,is M = P where P is the principal amount of the

monthly interest rate of 0.305% for a 15-year mortgage.

With no down payment, determine Jim’s mortgage payment, rounded to the nearest dollar.

Algebraically determine and state the down payment, rounded to the nearest dollar, that Jim needs
to make in order for his mortgage payment to be $1100.

Score 4: The student gave a complete and correct response.
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Question 34

34 Jim is looking to buy a vacation home for $172,600 near his favorite southern beach. The formula
r(1 + r)N
1+ -1

loan, r is the monthly interest rate, and N is the number of monthly payments. Jim’s bank offers a

to compute a mortgage payment, M,is M = P where P is the principal amount of the

monthly interest rate of 0.305% for a 15-year mortgage.

With no down payment, determine Jim’s mortgage payment, rounded to the nearest dollar.

Algebraically determine and state the down payment, rounded to the nearest dollar, that Jim needs
to make in order for his mortgage payment to be $1100.

Score 3: The student made a transcription error before calculating the fraction.
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Question 34

34 Jim is looking to buy a vacation home for $172,600 near his favorite southern beach. The formula
r(1 + r)N
1+ -1

loan, r is the monthly interest rate, and N is the number of monthly payments. Jim’s bank offers a

to compute a mortgage payment, M,is M = P where P is the principal amount of the

monthly interest rate of 0.305% for a 15-year mortgage.

With no down payment, determine Jim’s mortgage payment, rounded to the nearest dollar.

Algebraically determine and state the down payment, rounded to the nearest dollar, that Jim needs
to make in order for his mortgage payment to be $1100.

Score 3: The student made a rounding error.
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Question 34

34 Jim is looking to buy a vacation home for $172,600 near his favorite southern beach. The formula
r(1 + r)N
1+ -1

loan, r is the monthly interest rate, and N is the number of monthly payments. Jim’s bank offers a

to compute a mortgage payment, M,is M = P where P is the principal amount of the

monthly interest rate of 0.305% for a 15-year mortgage.

With no down payment, determine Jim’s mortgage payment, rounded to the nearest dollar.

Algebraically determine and state the down payment, rounded to the nearest dollar, that Jim needs
to make in order for his mortgage payment to be $1100.

Score 2: The student did not calculate the down payment.
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Question 34

34 Jim is looking to buy a vacation home for $172,600 near his favorite southern beach. The formula
r(1 + r)N
1+ -1

loan, r is the monthly interest rate, and N is the number of monthly payments. Jim’s bank offers a

to compute a mortgage payment, M,is M = P where P is the principal amount of the

monthly interest rate of 0.305% for a 15-year mortgage.

With no down payment, determine Jim’s mortgage payment, rounded to the nearest dollar.

Algebraically determine and state the down payment, rounded to the nearest dollar, that Jim needs
to make in order for his mortgage payment to be $1100.

Score 1: The student used incorrect values to find the mortgage payment. The down payment was
rounded incorrectly with these values.
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Question 34

34 Jim is looking to buy a vacation home for $172,600 near his favorite southern beach. The formula
r(1 + r)N
1+ -1

loan, r is the monthly interest rate, and N is the number of monthly payments. Jim’s bank offers a

to compute a mortgage payment, M,is M = P where P is the principal amount of the

monthly interest rate of 0.305% for a 15-year mortgage.

With no down payment, determine Jim’s mortgage payment, rounded to the nearest dollar.

Algebraically determine and state the down payment, rounded to the nearest dollar, that Jim needs
to make in order for his mortgage payment to be $1100.

Score 0: The student used 15 instead of 180 and made a computational error.
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Question 35

35 Graph y = log,(x + 3) — 5 on the set of axes below. Use an appropriate scale to include
both intercepts.

A

e 36 128 1% zﬁmjz{xﬂ,]

<

Y

Describe the behavior of the given function as x approaches —3 and as x approaches positive infinity.

As X—=>-3 -FCx)-——‘»-ao
A x>, $) > n

Score 4: The student gave a complete and correct response.
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Question 35

35 Graph y = log,(x + 3) — 5 on the set of axes below. Use an appropriate scale to include
both intercepts.

A
Y
X

P

Y

Describe the behavior of the given function as x approaches —3 and as x approaches positive infinity.

Score 3: The student did not graph both intercepts.
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Question 35

35 Graph y = log,(x + 3) — 5 on the set of axes below. Use an appropriate scale to include
both intercepts.

i

1A

2 % =% | -z | -\ ] + 5 | x | %

Y

Describe the behavior of the given function as x approaches —3 and as x approaches positive infinity.

Score 2: The student gave an appropriate description, but the graph was incorrect.
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Question 35

35 Graph y = log,(x + 3) — 5 on the set of axes below. Use an appropriate scale to include
both intercepts.

> X

/7

Y= log, (357

A

/4

Y

Describe the behavior of the given function as x approaches —3 and as x approaches positive infinity.

Score 2: The student did not graph both intercepts and only described the right end behavior
correctly.
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Question 35

35 Graph y = log,(x + 3) — 5 on the set of axes below. Use an appropriate scale to include
both intercepts.

-6 -L.-q-g o 2 4 G <6 (@X

A

Y

Describe the behavior of the given function as x approaches —3 and as x approaches positive infinity.

Score 1: The student made one graphing error and described the end behavior incorrectly.
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Question 35

35 Graph y = log,(x + 3) — 5 on the set of axes below. Use an appropriate scale to include

both intercepts.

Y

Describe the behavior of the given function as x approaches —3 and as x approaches positive infinity.

Score 0: The student gave an incorrect response.
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Question 36

36 Charlie’s Automotive Dealership is considering implementing a new check-in procedure for
customers who are bringing their vehicles for routine maintenance. The dealership will launch
the procedure if 50% or more of the customers give the new procedure a favorable rating when
compared to the current procedure. The dealership devises a simulation based on the minimal
requirement that 50% of the customers prefer the new procedure. Each dot on the graph below
represents the proportion of the customers who preferred the new check-in procedure, each of
sample size 40, simulated 100 times.

H Mean = 0.506
: SD =0.078
:
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? P& & 5 & 9 & & & o o
0.30 0.35 0.40 0.45 0.50 0.55 0.60 0.65 0.70
Proportion Preferring New Procedure

Assume the set of data is approximately normal and the dealership wants to be 95% confident of
its results. Determine an interval containing the plausible sample values for which the dealership
will launch the new procedure. Round your answer to the nearest hundredth.

Forty customers are selected randomly to undergo the new check-in procedure and the
proportion of customers who prefer the new procedure is 32.5%. The dealership decides not to
implement the new check-in procedure based on the results of the study. Use statistical evidence
to explain this decision.

Score 4: The student gave a complete and correct response.
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Question 36

36 Charlie’s Automotive Dealership is considering implementing a new check-in procedure for
customers who are bringing their vehicles for routine maintenance. The dealership will launch
the procedure if 50% or more of the customers give the new procedure a favorable rating when
compared to the current procedure. The dealership devises a simulation based on the minimal
requirement that 50% of the customers prefer the new procedure. Each dot on the graph below
represents the proportion of the customers who preferred the new check-in procedure, each of
sample size 40, simulated 100 times.

H Mean = 0.506
: SD =0.078
:
: 3 : .
I S T
[ J [ J [ 4 [ J [ ]
[ [ J [ [ J [ 3 [
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0.30 0.35 0.40 0.45 0.50 0.55 0.60 0.65 0.70
Proportion Preferring New Procedure

Assume the set of data is approximately normal and the dealership wants to be 95% confident of
its results. Determine an interval containing the plausible sample values for which the dealership
will launch the new procedure. Round your answer to the nearest hundredth.

Forty customers are selected randomly to undergo the new check-in procedure and the
proportion of customers who prefer the new procedure is 32.5% The dealership decides not to
implement the new check-in procedure based on the results of the study. Use statistical evidence
to explain this decision.

o ST s wsde dy 114 s, he
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Score 3: The student used the sample to create an interval.
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Question 36

36 Charlie’s Automotive Dealership is considering implementing a new check-in procedure for
customers who are bringing their vehicles for routine maintenance. The dealership will launch
the procedure if 50% or more of the customers give the new procedure a favorable rating when
compared to the current procedure. The dealership devises a simulation based on the minimal
requirement that 50% of the customers prefer the new procedure. Each dot on the graph below
represents the proportion of the customers who preferred the new check-in procedure, each of
sample size 40, simulated 100 times.

H Mean = 0.506
: SD =0.078
:
: 3 : .
I S T
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0.30 0.35 0.40 0.45 0.50 0.55 0.60 0.65 0.70
Proportion Preferring New Procedure

Assume the set of data is approximately normal and the dealership wants to be 95% confident of
its results. Determine an interval containing the plausible sample values for which the dealership
will launch the new procedure. Round your answer to the nearest hundredth.

Margin of wrrar= 2 (0, 077 ._ P= 0.225

Tnkerydly 0.225T 0,154

Forty customers are selected randomly to undergo the jhew check-in procedure and the
proportion of customers who prefer the new procedureQs 32.5%.)The dealership decides not to
implement the new check-in procedure based on the results e study. Use statistical evidence
to explain this decision.

Score 2: The student used the sample to create an interval and the 50% to explain the decision.
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Question 36

36 Charlie’s Automotive Dealership is considering implementing a new check-in procedure for
customers who are bringing their vehicles for routine maintenance. The dealership will launch
the procedure if 50% or more of the customers give the new procedure a favorable rating when
compared to the current procedure. The dealership devises a simulation based on the minimal
requirement that 50% of the customers prefer the new procedure. Each dot on the graph below
represents the proportion of the customers who preferred the new check-in procedure, each of
sample size 40, simulated 100 times.

-~ H Mean = 0.506
. SD =0.078
H
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Proportion Preferring New Procedure

Assume the set of data is approximately normal and the dealership wants to be 95% confident of
its results. Determine an interval containing the plausible sample values for which the dealership
will launch the new procedure. Round your answer to the nearest h_undredth.
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Forty customers are selected randomly to undergo the new check-in procedure and the
proportion of customers who prefer the new procedure is 32.5%. The dealership decides not to
implement the new check-in procedure based on the results of the study. Use statistical evidence
to explain this decision.

e oIS A TET 3Ees 6- (arenol
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Score 2: The student gave a correct interval.
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Question 36

36 Charlie’s Automotive Dealership is considering implementing a new check-in procedure for
customers who are bringing their vehicles for routine maintenance. The dealership will launch
the procedure if 50% or more of the customers give the new procedure a favorable rating when
compared to the current procedure. The dealership devises a simulation based on the minimal
requirement that 50% of the customers prefer the new procedure. Each dot on the graph below
represents the proportion of the customers who preferred the new check-in procedure, each of
sample size 40, simulated 100 times.

H Mean = 0.506
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Proportion Preferring New Procedure

Assume the set of data is approximately normal and the dealership wants to be 95% confident of
its results. Determine an interval containing the plausible sample values for which the dealership
will launch the new procedure. Round your answer to the nearest hundredth.

Forty customers are selected randomly to undergo the new check-in procedure and the
proportion of customers who prefer the new procedure is 32.5%. The dealership decides not to
implement the new check-in procedure based on the results of the study. Use statistical evidence

to explain this decision.
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Score 2: The student found a correct interval, but did not use the statistical evidence to explain
the decision.
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Question 36

36 Charlie’s Automotive Dealership is considering implementing a new check-in procedure for
customers who are bringing their vehicles for routine maintenance. The dealership will launch
the procedure if 50% or more of the customers give the new procedure a favorable rating when
compared to the current procedure. The dealership devises a simulation based on the minimal
requirement that 50% of the customers prefer the new procedure. Each dot on the graph below
represents the proportion of the customers who preferred the new check-in procedure, each of
sample size 40, simulated 100 times.

H Mean = 0.506
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Proportion Preferring New Procedure

Assume the set of data is approximately normal and the dealership wants to A\i 95% confident of
its results. Determine an interval containing the plausible sample values for which the dealership
will launch the new procedure. Round your answer to the nearest hundredth.

Q.35 066
\

Forty customers are selected randomly to undergo the new check-in procedure and the
proportion of customers who prefer the new procedure is 32.5%. The dealership decides not to
implement the new check-in procedure based on the results of the study. Use statistical evidence
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Score 1: The student found the correct interval, but showed no work and did not use statistical
evidence to explain the decision.
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Question 36

36 Charlie’s Automotive Dealership is considering implementing a new check-in procedure for
customers who are bringing their vehicles for routine maintenance. The dealership will launch
the procedure if 50% or more of the customers give the new procedure a favorable rating when
compared to the current procedure. The dealership devises a simulation based on the minimal
requirement that 50% of the customers prefer the new procedure. Each dot on the graph below
represents the proportion of the customers who preferred the new check-in procedure, each of
sample size 40, simulated 100 times.
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Proportion Preferring New Procedure

Assume the set of data is approximately normal and the dealership wants to be 95% confident of
its results. Determine an interval containing the plausible sample values for which the dealership
will launch the new procedure. Round your answer to the nearest hundredth.

Forty customers are selected randomly to undergo the new check-in procedure and the
proportion of customers who prefer the new procedure is 32.5%. The dealership decides not to
implement the new check-in procedure based on the results of the study. Use statistical evidence
to explain this decision.

Score 1: The student gave an incorrectly rounded interval, and did not use statistical evidence to
explain the decision.
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Question 36

36 Charlie’s Automotive Dealership is considering implementing a new check-in procedure for
customers who are bringing their vehicles for routine maintenance. The dealership will launch
the procedure if 50% or more of the customers give the new procedure a favorable rating when
compared to the current procedure. The dealership devises a simulation based on the minimal
requirement that 50% of the customers prefer the new procedure. Each dot on the graph below
represents the proportion of the customers who preferred the new check-in procedure, each of
sample size 40, simulated 100 times.
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Proportion Preferring New Procedure

Assume the set of data is approximately normal and the dealership wants to be 95% confident of
its results. Determine an interval containing the plausible sample values for which the dealership

will launch the new procedure. Round your answer to the nearest hundredth.
t’*-—- e - e -

0.39 ~0.66>~

Forty customers are selected randomly to undergo the new check-in procedure and the
proportion of customers who prefer the new procedure is 32.5%. The dealership decides not to
implement the new check-in procedure based on the results of the study. Use statistical evidence
to explain this decision.
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Score 0: The student did not show enough correct work to recieve any credit.
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Question 37

37 A radioactive substance has a mass of \lﬂ)_‘g at 3 p.m. and 100 g at 8 p.m. Write an equation in
t S——————

the form A = A()(%) k' that models this situation, where h is the constant representing the

number of hours in the half-life, A, is the initial mass, and A is the mass ¢ hours after 3 p.m.

-
W00= 1o (3)

Using this equation, solve for h, to the nearest ten thousandth.

Determine when the mass of the radioactive substance will be 40 g. Round your answer to the
nearest tenth of an hour.

Score 6: The student gave a complete and correct response.
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Question 37

37 A radioactive substance has a mass of 140 g at 3 p.m. and 100 g at 8 p.m. Write an equation in
t
the form A = AO(%) k' that models this situation, where h is the constant representing the

number of hours in the half-life, A, is the initial mass, and A is the mass ¢ hours after 3 p.m.

Using this equation, solve for h, to the nearest ten thousandth.

Determine when the mass of the radioactive substance will be 40 g. Round your answer to the
nearest tenth of an hour.

Score 6: The student gave a complete and correct response.
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Question 37

37 A radioactive substance has a mass of 140 g at 3 p.m. and 100 g at 8 p.m. Write an equation in
t
the form A = AO(%) k' that models this situation, where h is the constant representing the

number of hours in the half-life, A, is the initial mass, and A is the mass ¢ hours after 3 p.m.

Using this equation, solve for h, to the nearest ten thousandth.

Determine when the mass of the radioactive substance will be 40 g. Round your answer to the
nearest tenth of an hour.

Score 5: The student gave a partial solution for the time.
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Question 37

37 A radioactive substance has a mass of 140 g at 3 p.m. and 100 g at 8 p.m. Write an equation in
t
the form A = AO(%) k' that models this situation, where h is the constant representing the

number of hours in the half-life, A, is the initial mass, and A is the mass ¢ hours after 3 p.m.

Using this equation, solve for h, to the nearest ten thousandth.

Determine when the mass of the radioactive substance will be 40 g. Round your answer to the
nearest tenth of an hour.

Score 4: The student did not determine when the weight of the substance will be 40g.
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Question 37

37 A radioactive substance has a mass of 140 g at 3 p.m. and 100 g at 8 p.m. Write an equation in
t
the form A = AO(%) k' that models this situation, where h is the constant representing the

number of hours in the half-life, A, is the initial mass, and A is the mass ¢ hours after 3 p.m.

Using this equation, solve for h, to the nearest ten thousandth.

Determine when the mass of the radioactive substance will be 40 g. Round your answer to the
nearest tenth of an hour.

Score 3: The student did not write the equation in terms of i, and did not determine when the
substance will be 40 g.
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Question 37

37 A radioactive substance has a mass of 140 g at 3 p.m. and 100 g at 8 p.m. Write an equation in
t
the form A = AO(%) k' that models this situation, where h is the constant representing the

number of hours in the half-life, A, is the initial mass, and A is the mass ¢ hours after 3 p.m.

Using this equation, solve for h, to the nearest ten thousandth.

Determine when the mass of the radioactive substance will be 40 g. Round your answer to the
nearest tenth of an hour.

Score 3: The student gave a correct equation, but rounded too early.
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Question 37

37 A radioactive substance has a mass of 140 g at 3 p.m. and 100 g at 8 p.m. Write an equation in
t
the form A = AO(%) k' that models this situation, where h is the constant representing the

number of hours in the half-life, A, is the initial mass, and A is the mass ¢ hours after 3 p.m.

Using this equation, solve for h, to the nearest ten thousandth.

Determine when the mass of the radioactive substance will be 40 g. Round your answer to the
nearest tenth of an hour.

Score 2: The student gave a correct equation, but rounded too early and incorrectly rounded h.
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Question 37

37 A radioactive substance has a mass of 140 g at 3 p.m. and 100 g at 8 p.m. Write an equation in
whed-7 t
the form A = A()(%) k' that models this situation, where h is the constant representing the

number of hours in the half-life, A, is the initial mass, and A is the mass ¢ hours after 3 p.m.

ok s A £7
e O IO)

Using this equation, solve for h, to the nearest ten thousandth.
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Determine when the mass of the radioactive substance will be 40 g. Round your answer to the
nearest tenth of an hour.

X
0o =wo (1)’

Score 2: The student gave a correct equation, but made a conceptual error in solving for h.
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Question 37

37 A radioactive substance has a mass of 140 g at 3 p.m. and 100 g at 8 p.m. Write an equation in
t
the form A = AO(%) k' that models this situation, where h is the constant representing the

number of hours in the half-life, A, is the initial mass, and A is the mass ¢ hours after 3 p.m.

Using this equation, solve for h, to the nearest ten thousandth.

Determine when the mass of the radioactive substance will be 40 g. Round your answer to the
nearest tenth of an hour.

Score 1: The student gave a correct equation.
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Question 37

37 A radioactive substance has a mass of 140 g at 3 p.m. and 100 g at 8 p.m. Write an equation in
t
the form A = A()(%) k' that models this situation, where h is the constant representing the

number of hours in the half-life, A, is the initial mass, and A is the mass ¢ hours after 3 p.m.

Using this equation, solve for h, to the nearest ten thousandth.
- \s
IC0 = 1H0(3YR
00~ YO *

70 —
442G -2 7.
h=1.43

Determine when the mass of the radioactive substance will be 40 g. Round your answer to the
nearest tenth of an hour.

Score 0: The student gave a completely incorrect response.
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The State Education Department / The University of the State of New York

Regents Examination in Algebra || (Common Core) — June 2017
Chart for Converting Total Test Raw Scores to Final Exam Scores (Scale Scores)

(Use for the June 2017 exam only.)

Raw Scale | Performance Raw Scale | Performance Raw Scale | Performance
Score Score Level Score Score Level Score Score Level
86 100 5 57 82 4 28 67 3
85 99 5 56 82 4 27 66 3
84 98 5 55 82 4 26 65 3
83 97 5 54 81 4 25 64 2
82 97 5 53 81 4 24 63 2
81 96 5 52 80 4 23 62 2
80 95 5 51 80 4 22 60 2
79 94 5 50 80 4 21 59 2
78 94 5 49 79 4 20 56 2
77 93 5 48 79 4 19 55 2
76 92 5 47 79 4 18 53 1
75 92 5 46 78 4 17 52 1
74 91 5 45 78 4 16 50 1
73 90 5 44 77 3 15 48 1
72 90 5 43 77 3 14 45 1
71 89 5 42 77 3 13 43 1
70 89 5 41 76 3 12 41 1
69 88 5 40 76 3 11 38 1
68 88 5 39 75 3 10 35 1
67 87 5 38 75 3 9 32 1
66 87 5 37 74 3 8 29 1
65 86 5 36 74 3 7 26 1
64 86 5 35 73 3 6 23 1
63 86 5 34 72 3 5 19 1
62 85 5 33 72 3 4 16 1
61 84 4 32 71 3 3 12 1
60 84 4 31 70 3 2 8 1
59 83 4 30 69 3 1 4 1
58 83 4 29 68 3 0 0 1

To determine the student’s final examination score (scale score), find the student’s total test raw score in the column
labeled “Raw Score” and then locate the scale score that corresponds to that raw score. The scale score is the
student’s final examination score. Enter this score in the space labeled “Scale Score” on the student’s answer sheet.

Schools are not permitted to rescore any of the open-ended questions on this exam after each question has
been rated once, regardless of the final exam score. Schools are required to ensure that the raw scores have
been added correctly and that the resulting scale score has been determined accurately.

Because scale scores corresponding to raw scores in the conversion chart change from one administration to another,
it is crucial that for each administration the conversion chart provided for that administration be used to determine the
student’s final score. The chart above is usable only for this administration of the Regents Examination in Algebra Il
(Common Core).
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